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INSTRUCTIONS FOR CANDIDATES
1t is mandatory to fll one option for each gqoestion.
Al guestions carry equel marks. -
Oty one smswer i to be given for each question. [T more than one answers
are priarked, ifwould be iremed as wrong answer.
The OMR Answer Sheet is inside this Question Bookler, When you are
directed to open the Question Booklel take out the Answer Sheet and fill
in the panticulars carcfully with BLUE BALL POINT PEN anly.
Please correctly (il your Roll Nomber in OMR Answer Shéet. Candidae
will themselves be responsibie for filling wrong Roll Mumber.
13 part of the markis) of each question will be deducted for each
WIONE ANSWer, A WITNg SnswWer means oy incofmect answer of more than
one answers for any question.
Each question has five optlons marked a8 1, 2, 3, 4, 5. You have to
darken only one circle (bubble) indicating the correct answer on the
Answer Sheet using BLUE BALL POINT PEN.
If you are not attempting o question, then you have to darken the
cirche *5° 1 none of the five circles is darkened, one third (1/3) part of
the marks of question shall be dedocted.
Afer solving the question paper, candidate must ascertoin that hedshe
has darkened one of the circles (bubbles) for each of the guestions.
Extra time of 10 minutes beyond seheduled time is provided for this.
A candidate who has not durkened any of the five circles in more than
10% gquestions shall be disquulified,

. IF there js oy son of ambiguity/mistake either of printing or fictl

niduere, then out of Hindi and English Veridon of the question, the English
Wersion will be treated as siandard.

Mobile Phone or any other electronic gadget in the oxamination hall is
strictly prohibited. A condidate found with any of such objectionible
materinl with himvher will be strictly dealt a5 per niles.

Warning : I a candidote is Tound copying or if any unauthorized matenal is
found in hisher possession, F.LE. would be lodged ageinst hirher in the
Police Smtion and befshe woold lnble w0 be prosecuted under Rajasthan
Public Examination (Measores for Prevention of Unfair mesns in
HRecruitment] Act, 2022, other law applicable and Commission’s
Regulations. Commission may also debas Kimher permanenily from il futune
exmminalions.
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1. At what height average atmospheric pressure 1. fhe Sard w s qgASeld gad g @

remains approximately S50% of that of HOE @ TgHSend S41d BT FTHT 50% VEal
atmospheric pressure at earth surface? 27
(1) 7.5 km (2) 2.5 km (1) 7.5 &A1, (2) 2.5 fs#1.
(3) 5.5 km (4) 4.5 km Fey @557 (@) 4.5 .
(5) Question not attempted (5) Irgaiia weA
2. ‘Line of Equal Distribution’ is shown in which 2 Pr=fefes 4 4 foad w9 faawor Yar vaffa
of the following? #T Sy 27
(1) Line frequency(2) Frequency polygon (1) ¥y sy sy (2) sy aEyw
et @) st T (#) fewerm
(3) Lorenz curve (4) Histogram
(5) arqwfta weA

(S) Question not attempted
3. Consider the following statements regarding 3 'weugare' @ fawa # Fr=ifafs $ot w fer

*Positivism’ and select the correct answer from Fifre T 1 RBu 7o T ¥ WE TR B
the code given below - T Fifere —
(A) The philosophy of Positivism is based on (A) NeeiaTe 7 9 amaviaTe R amERe |
Idealism. E 3 i s LG
(B) Positivist gives more emphasis on moral * ™" ¢ T
norms.

(C) T 3pvEare & = | M S wmer 81

(C) It is also known as empiricism.

Code - Soild :
(1) (B) 7@ (C) &1 el &
(1) Both (B) and (C) are correct
(2) (A) and (B) are correct i e
(3) Only (A) is correct (3) B (A) W B
(4) Only (C) is correct (4) Fae (C) weT &
(5) Question not attempted (8) srgmifer we
4. Which type of signals are transmitted by GPS 4 oitfiow, Suusl & g 59 ver & feg
satellites? weRe fby wm 87
(1) Radio signals ; (1) ¥&a fyrre
(2) Thermal Infrared signals E (2) amfra sraver e
(3) Near Infrared signals (3) Pree smva
(4) 0.6 to 0.7 micrometre wavelength radiation (4) 0.6 T 0.7 ArEFMER Torded g fafEo
(3) Question not attempted - (5) Cﬂﬂﬁﬁﬂ g
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5. Mercator’s projection is also known as -

(1) Homolographic projection

(2) Conical orthomorphic projection

(3) Cylindrical orthomorphic projection
(4) Zenithal map projection

(S) Question not attempied i —y

Which of the following glacial topography is
generally developed over old volcanic or basaltic

plugs?
(1) Aréte (2) Bergschrund
(3) Col (4) Crag and Tail

(5) Question not attempted

+ Which one of the following is not a major design

of non-probability sampling used by Social

Scientists?

(1) Stratified sampling (2) Purposive samplin%;i

T

(3) Accidental sampling(4) Quota sampling
(5) Question not attempted

The one-shot case study is associated with -
(1) Research approaches

(2) Pre-Experimental Research Design .

(3) Research predictions

(4) Research variables

(5) Question not attempted

Who among the following opinioned that
Geography is a bridge between the natural and
social sciences?
(1) Albert Penck
(3) Vidal de La Blache (4) F. Ratzel
(5) Question not attempted

(2) Huntington :i:-—

5. ey WE B TH AW | W W G 8 -

(1) wmers uEm

(2) sigarsr Jaipfy wem
(3) GETPR TIPS HEY
(4) T e var

(8) srgaRa e

- Prefafa % @ @ Rael wengla

AT ST 37T dwTee i R R

gl &7

(1) R wew (Arete) (2) s

(3) wia (4) 51—q@F (Crag and
Tail)

(5) sriiva §ee

- W dSfET g ST § S S ard

Uk A - S 1 o R R T
ffreeg w8t 87

(1) wrirg e (2) Hieza wftveas

(3) anafiae yiowas  (4) 9 witsas

(5) arpef W

. ‘F-¥e Y I wEag & —

(1) 3Fgaur /e gftesor |
(2) yd—wraifires o e 9§
(3) wier gafgeE 9

(4) st == 9

(8) argafta e

9. = | o fwe A9 a1 f& e wgiae AR

wmifors s & 49 ve 9y 87
(1) aread U (2) feres
(3) faere & @1 =9 (4) U, YEuE
(5) arafta weA
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10. As per Walter Penck's model of cycle of erosion.
the *Haldenhangs’ are formed in the phase -
(1) Aufsteigende Entwicklung
(2) Absteigende Entwicklung
(3) Second  phase  of
Entwicklung }‘_
(4) First phase of Gleichforminge Entwicklung *—

[
e N

Gleichforminge

(5) Question not attempted

1. The Thermal concept of origin of monsoon was

propounded by -
(1) Halley in 1686
(3) Halley in 1689

(2} Flohn in 1686
(4) Hadely in 1689
(5) Question not attempted

12. Who among the following is not associated with

10.

11.

dfeex 4% @ e ww B Aed B TR
"geee fAffa & & —

(1) SRS quefimgm rawer 4

(2) vadiors wrefdaen e #

(3) FermwififT yoeleman @ ey wrawen 4

(4) Ferawifn wrefameT o wem wawerr o )
(8) araRa ues

HAE B IS P A Whean e g
nfeariad @1 T eff?

(1) 1686 7 gelt & BT (2) 1686 H vellgd &

BT
(3) 1689 F &<l & g1 (4) 1689 F E8cil & BT

(8) gt ue

12. fy= o @ @ Rty drifes Rumam 4

British School of Geography? wafer w8 87
(1) HJ. Mackinder ~ (2) Patrick Geddes (1) ga st #frves (2) ufg® 7w
(3) E.C. Semple {4) A.G. Ogilvie (3) $30. e (4) Tt sifired
(5) Question not attempted E (8) arafe wes
13. The Graphical Method to locate the Median s Aieger FAuRe @ wa-REin R & /& -
is/are - (A) e fafr
(;: ga’!tﬂn‘s method (B) 3T 9%
1VE curve
:C] thmmulaliue frequency curve © 'Hﬂ'-ﬂ ol il
Code - L i
(1) (A). (B). (C) (2) Only (A) and (B) (1) (A), (B), (O) (2) Baa (A) 3 (B)
(3) Only (B) and (C)  (4) Only (B) (3) #aer (B) 3R (C) (4) &aa (B)
(8) Question not attempted (5) srpeive we
14. “Polar Frontal Theory" is associated with - 1. g qary fagia Hea & -
(1) Development of coral reefs (1) vare faferar o swfy 9
(2) Origin of temperate cyclones (2) Sireirer gamamal @1 9wy W
(3) Origin of trade winds A @) e gt B el §
(4) Origin of temperate cyclones T (@) serafeddt wwamar 1 S@fy o
(5) Question not attempted (5) :ﬂgﬂﬁa o
35.% Page 4 of 32
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16.

17.

18.

Which one of the following Mediterranean
Biome (shrubs-Location) is not matched
correctly?

(1) Mallee Scrub-Mid Africa
(2) Fynbos-South Africa

(3) Chaparral-California

(4) Garrigue-Southern Europe
(5) Question not attempted

Match the following and select the correct

answer from the code given below -
Ocean/Seas/Lakes  Average Salinity (%)

(a) Atlantic Ocean (i) 41%c

(b) Dead Sea (i1) 220%.

(c) Great salt lake (ii1) 238%e

(d) Red Sea (iv) 36%e

Code -

(1) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
(2) (a)-(iv), (b)-(iii). (c)-(1), (d)-(ii)
(3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(4) (a)-(iv), (b)-(ii), (c)-(iit), (d)-(i)
(5) Question not attempted

The Gimi-Coefficient is a -

(1) Measurer of standard deviation

i

(2) Measurer of range of dispersion

(3) Quantity measurement of dispersion

(4) Measurer of skewness

(5) Question not attempted

Which clouds are formed in association with
meteoric dust and moisture in atmosphere?
(1) Nimbostratus Clouds

(2) Strato-cumulus Clouds

(3) Cumulonimbus Clouds

(4) Noctilucent Clouds

(5) Question not attempted

e

15.

16.

17.

frafofa # 9 @Fw yEegEEE amm
(enfedi—smaftufy) wf gafaa =@ &7

(1) #eft wpa—wen AT

(2) fF=ara—s@r awia

(3) FIRA—dferpifrar

(4) F¥rr—zfarh g9

(8) argafta u

Frafafaa o1 gEfem ity aur e Ry T
HE W HEl I @B 5y Sy —
HETHIR /9GP /a3 Saomar (%)
(a) FEoAie®d AR (i) 41 %e

(b) T WP (ii) 220 %o

(c) Ue wfee o (iii) 238 %o

(d) e AT (iv) 36 e

‘ﬂia 5

(1) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
(2) (a)-(iv), (b)-(ii1), (c)=(i), (d)-(ii)
(3) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
(8) (a)-(iv), (b)-(ii), (c)-(ii1), (d)-(i)
(8) srpelRer oo

fr e 8 @ -

(1) yam AT =g

(2) srafdvor 96 WE w1 A9

(3) 3fdHvo H1 AEHS HIYA

(4) faswer @1 5

(5) sreiive e

qAvSH ¥ Towt gfel aur adar @ w9
PR et @ P gy 22
(1) auiwrdl A9

(2) wrdi—=rl 5"

(3) Tl aut Fe

(4) frandra 7

(8) srgeiRa wes

5.9
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18. “Eskar’ is a geomorphic feature developed by -

21.

{1} Glaciofluvial {2) Groundwaier
deposits

(4) Fluvial desert action
-

(3) Wind erosion

(5} Question not attempted

found within the scene, it is called -

(1) High pass noise

(2) Shot noise

(3) Shallow noise

(4) Dense noise

(5) Question not attempted

In which case, the Principle of Informed Consent

is essential for a Researcher?

(1) Obedience to authority

(2) If Research participants are placed at risk _-;::
1M

(3) Balancing of costs and benefits

(4) Responsibility

(5) Question not attempted

Which one of the following statement is not

correct about the Geo-Stationary Satellites?

(1) These satellites make one revolution of carth
in 24 hours.

(2) These satellites cover the area upto 45°N and
45°S latitudes.

(3) These satellites revolve round the earth above

the equator.

Lok
(4) The height of these satellites is ulnua&.:;.

36000 km.
(5) Question not attempted

-
(=
L

;E_iiﬂaﬂﬂﬁﬂﬂﬁ
0. 5 e (scene) & W wE AGRET @A

.
 When there are numerous random bad pixels

TE'WﬁWﬂWHm%,ﬁﬂwﬁﬁm
m !

(1) ol FEmi2) gfa sie @
|
(3) a1 amyeE o (4) refla—wowee

far &

G R 1 1 A | B T 1
(1) 371 UIR® 9
(High pass noise)
(2) vz
{Shot noise)
(3) fswen v
(Shallow noise)
(4) W= 7@ (Dense noise)
(5) arpeifer wea
| G R e S o
meddl @ for frw Refy /g 4 sawrs 87
(1) witrar) & ufe amsmEfar
(2) afe sriEms wfoenfhel &1 ofem d ven
el &
(3) e e @ B WA e
(4) S
(5) arqafa wea

22. yeifag-—aunel & was d Prefafaa 5 9

i £ 1 2 _

(A 9uge gedt @ Um aaHY 24 "ve § gy
B € |

() 3 3w 45°N 9 45°S swErel o o e
Y & |

(3) 7 9uuE fAqad v & S gedl & i
BT |

(4) Z=71 ayrE] ) Fand ST 36000 AL gd
gl

(8) argaite woA

35.-® Page 6 of 32



plane is known as.........c..cccoimrcnnne
(1) Fault dip
(3) Strike

(5) Question not attempted

(2) Fault scarp
(4) Fault plane

I

E el

- Who wrote “Human Geography: A Welfare
Approach™?

(1) David Harvey (2) George Chisholm
(3) Robert Mill (4) David Smith

(5) Question not attempted

- Who defined ecosystem as “A functioning,
interacting system composed of one or more
their  effective

living organisms and

environment, both physical and biological™?

24.

25.

23. The angle between the fault plane and horizontal 23. w9 @& oiR &fow aa & @9 & a1 &

(1) 91 fouq

(2) w91 wHd
(3) =771 (4) 991 od
(8) s oo

HEG e U6 HedvEn Sur e
ferd?

(1) e &7 (2) wifst foreien
(3) 3rad e (@) e v
(8) areRa wea

frem oiRftufas a3 & "o o1 e ohfag
vl aR 9@ Hifos ok AR <9 ol
qEmERe W & ve s, safhaers
womelr” @ w9 § ufenfie fea?

(1) E.P. Odum (2) F.R. Fosberg (1) £, sigw (2) v, wrea
(3) A.G. Tansley (4) R.L. Linderman (3) goft. S=at (4) s, ferewia
(5) Question not attempted ;i-: (5) areiRa wed
2‘5—Whnisthnaulhurnf‘T‘thakersnfMﬂdﬂT‘éﬂ' - g "EY SifE Hied Sy @ oas i 27
Geography'?
(1) Peter Haggett (2) A.J. Herbertson (1) drex &e (2) gt g
(3) RE. Dickinson ~ (4) A.V. Humboldt (3) e d fefmam (4) vt s
(5) Question not attempted (5) argeie west
- Which among the following is a Vector file 27 f=1 # ¥ ==y d9ev wida wife 27

P () A @ e
(1) PNG (2) DGN
(3) JPEG (4) BMP (3) S of. (4) frumd,
(5) Question not attempted (5) rgeriver e

28. Which of the following is an air-based platform?s- Fr=ferfas 3 9 Sar ag-smnRa <ew 87
(1) Balloons (2) Towers ;;‘-i (1) TR (2) #r=me
(3) Rocket {4) Unmanned (3) e (4) "raiea e

spacecraft I

(3) Question not attempted (5) srgelta we

35.% Page 7 of 32




28. Which of the following is an open source GIS

software?

(1) Map 3D

(2) GRASS GIS

(3) MapGuide

(4) GeoMedia

(5) Question not attempted

2. fefeflae & § S ue GIS s o

Higeaaw &7

(1) %y 3&

(2) 7y of.amd vs, (GRASS GIS)
(3) 49 T5E

(4) for Hfgm

(5) srgmiRa ues

30. Which one of the following is not included in  30- 771 # ¥ ®w syl & wevdl § wiwfeas
objectives of the schedule? el &7
(1) Collection of correct and desired information (1) W€ 07 Suge A B FHer
(2) Study of different aspects of research (@ i e & R degel @1 s
observation F¥
(3) Valid and objective study (3) wrsifen I AT e
(4) Useful in the collection of numerical data (8) HeEToTh AiBS @ Ao 3 SUAnft
(5) Question not attempted (5) araRa weA
31. Chaparrals are - 3. ¥ € -
:;: creepers in tropical rainforests ui-l- (1) AT o T
the shrubs in California of Mediterraneart™__
tarvia Ao 8 (2) Fforeifia @ spraariy aEm B s
(3) the shrubs in South Africa of Mediterranean (3) afErT spBte # sAeraTTa AW @) snfer
biome @) o
(4) trees in Savanna
(5) Question not attempted () sgwiRa W
32. The absence of deep focus earthquakes is found 32 T&¥ @ Yo & 3vg fFaa wER T
along - G
(A) Convergent plate boundaries (A) STt wie fHaR
(B) Divergent plate boundaries (B) 391 ﬁf R
(C) Transform fault boundaries (C) Frwd i
Code - < -
(1) Only A (2) Only C (1) #5a A (@) @aa C
(3 A, BandC (4) B and C (3) A,B3iR C 4 B3k C
(5) Question not attlempted - (8) argeiftey wes
33. Which one of the following is not a secnndﬂrf_:;:’ﬂ Frfeftam & & S yaaRi/diest &
source of information/data? ferdiae i 7 &7
(1) Seminars (2) Maps (1) Wﬁfﬁ'ﬂ (2) srifemae
(3) Census Books (4) Gazetteer (3) ST g (4) roife
(5) Question not attempted (8) argeier e
5.9 Page 8 of 32



34. Which one of the following (Value/Scale —

Pattern (Settlement)) is not correctly matched

34.

e TSl yEeiw & wEH A
(A / sue—wfawa(@ars) fFE § a8 e

about the Nearest Neighbour Index? wafea =8t 87

(1) 2.149-uniform (2) 1.0-Random (1) 2.149-gofe: wFey (2) 1.0-gvfer S CALL

(3) —1.0 uneven (4) 0.0-Clustured e @ ~1.0 sfafa (4) 0.0-goie: wEfe

(5) Question not attempted --f (8) s W

Which one of the following is not a type of 35 Fp=iferfaa # & ®i=ran affae-fra anfra 2gEFHv

advectional inversion of temperature?

(1) Turbulence Inversion

(2) Frontal Inversion

(3) Valley Inversion due to vertical air
movement

(4) Surface inversion due to horizontal air
movement

(5) Qucsi:inn not attempted

(4) Ocean relief
(5) Question not attempted

- “Nazca Plate™ is situated between -

(1) Central America and Atlantic Plate
(2) North America and Pacific Plate
(3) Asiatic and Pacific Plate

(4) South America and Pacific Plate
(5) Question not attempted

What is the approximate time taken by a GPS 38

satellite to make one complete revolution around
the Earth?

- ‘Pycnocline’ is associated with - 36.
(1) Development of coral reefs
(2) Mesosphere N
(3) Sea water density --f

3ar.

(124 hours and 26(2) 24 hours E_‘:_}?
minutes )
(3) 6 days (4) 12 hours

(5) Question not attempted

1 YR FE 87

(1) fasir ogebwol

(2) aramrft 2gesaor

(3) arg # sFaad T & HRY S GahHul
‘) arg # &t nf & HReT wEE FgEE
() argeila wed

Treraeng ddfa & —

(1) warer Pty & w4

(2) werHEe |

(3) Wity Wid & O |

(4) wETETTA EEEY ¥

() gl wed

Ao we” g & -
(1) wen apiReT Ug aedifes we & ey

(2) Ser IWRE UF geE wie @ 9

(3) ufimnfe® vd wena wie & 9y

(4) =fror smfeT va yere wie & W

(8) argaRe uw

S oW, SUE R gedl @ =R Y Ud g
gftear e # e faaan s e &7

(1) 24 52 e 26 MEE(2) 24 52
(3) 6 f&= (4) 12 52
(8) araRe we

35.%
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39. In Orthographic Projection, position of eye point
is assumed at -
(1) at the opposite end of globe
(2) infinity
(3) at the centre of globe
(4) at the perpendicular point of tangent plane
(5) Question not attempted

40. Potholes of much bigger size are called -
(1) Plunge pools (2) Playas
(3) Paternoster lakes  (4) Lagoons
(5) Question not attempted

#1. According to WMO, the average temperature for
the period 2015-2022 was about................. above
the pre-industrial (1850-1900) baseline.

(1) 1.40°C (2) 1.15°C
(3) 1.04°C (4) 1.34°C

(5) Question not attempted

39. FEFHMY weg # 47w &) fRufy e & -

(1) & & fRAeda BR W
(2) 3= W™

= @) e @ B A
gk (@) wreiver o @ dead fag W

(5) argeilRer wee
40. yrcafies 93 AHR & T Tl B Ped & —
(1) 3 s (2)
(3) Yeverey Al @)
(5) argeif¥a wea

4. Ry Awm Rem dmeT ((WMO) & aanR,
20152022 %t sEfy @ fou s amwem
qd—siteifa (1850-1900) MR ¥War | S
........... s o)
(1 1.40° 9
(3) 1.04° 9.

(2) 1.15° 9,
(4) 1.34° 9.

|..I..'|.
&f{ (5) argafe wee
42. Distribution of population by age, sex and ST H Y, foRT e WRRGT @ SR

_ literacy can be represented by -
(1) Simple Table

(3) Higher order table (4) Three-way table
(5) Question not attempted
43. In 1968, huge ‘Nuée Ardente’ was erupted by -

(2) Two-way table

(1) Mt. Fujiyama

(2) Mt. Mayon

(3) Mt. Vesuvius

(4) Mt Kilauea

(5) Question not attempted

faeor wefia fran o e & —
(1) \reRer Wl gRT (2) o wwvi g
(3) 7gTer wreft gwr (9) Ppor et g
(5) argeifer we

43. 1968 ¥, fawnel q¥ IR T IFUR I —
(1) wreve gfomr & g™
(2) Arave W B BRI

(3) #rave fRAgfas & gm
() wrave fFarasn & g™

(5) argaRa wes

44. Which of the following is an example of nmE‘:ﬂ- fr=fafea & o e W @i e

imaging sensor?

(1) Multi Spectral (2) TRIOS - 1
Scanner

(3) LISS (4) Radar Altimeter

(5) Question not attempted

R (Non imaging sensor) &1 JETET &7

(1) 7t Wage wh=w (2) TRIOS - |
(3) LISS (4) YW areereitey
(5) srgafRRa we
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45. Which of the following group of electromagnetic 45, faga grda Wagn & FPrafafea 4 4 fFa

spectrum is largely used for mapping carth g @ I i gedl & owee @
surface? ArfEEe & fem R st 27
(1) Gamma rays, visible rays, microwaves e (1) T fae, g feo, mmgiaa
(2) Visible rays, radio and microwaves :"_']r (2) gvar ¥, AT T HEHI
(3) Cosmic rays, radio waves, thermal infrared @) wifew fovol, e . e FIRS
(4) X-ruys, Gamma rays, microwaves, red (@) {X-m:!:“’lwmf}ﬁﬂﬁ ST VU
(5) Question not attempled (5) srgerRe o
46. According to ancient Indian geographical 46 gl wRdm AmfGE yEEROT $  STER
E:mm:pt. the term ‘Bhogol” has been first used in gl 9 1 WA e vge far may @ —
e -
(1) Siddhanta (2) Surya Siddhanta () R RRefr - (2) < Rigier
Shiromani (3) wreperor 3 (4) smfuda §
(3) Ramayan (4) Aryabhatiya (5) argefia we

(5) Question not attempted
47. “All progress is born of enquiry. Doubt is often  47- "urf) unfa gwamw | fa7 &N 2| Wiw SR
better than overconlidence, for it leads to inquirl. e sft-anafyam ¥ dem @ 2 aify us

and inquiry leads to invention” is a quotationig™ UEaTe #1 AN o W § 9N guare aweR
@) 3N o Ol # T U8 IS 8 —

(1) o+ Afdaw & (2) drog. 9 9

of -

(1) Hudson Maxim (2) V.H. Mory

(3) Harold Dazier (4) Richard Mensing (3) 8vs ShRer @ (4) Rerd A A
(5) Question not attempted (5) Wﬁﬂ ¥
48. Which of the following is correct? 48. frp=ifarfiaa @ 9 #9887
(1) CIiff slope is a glacial erosional feature, (M gjl et U feriiga SveHAreTs Repi
I

(2) Peneplain is formed by deposition only. 4
(2) wura #EE wad Peow | [t g 2

(3) Tl vid UF uRaesa W # |

: (5) Question not attempted (5) srpafta wea

49. The southerly branch of North Atlantic Drift,  49- ol aur @9 & dra @89 arell I sieaifes
flowing between Spain and Azores, is ItnmEﬂ_:ﬂ-:'- fae & Rl war &1 @Er o & —

(3) Alluvial cone is a transportational landform.

us - e

(1) Cayenne Current  (2) Guinea Current ko (1) @31 Sieer (2) firft sretemn
(3) Florida Current  (4) Canary Current (3) wwiRer Semrt (@) B STeER
(S) Question not attempted (5) apgaii¥er weA
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50. The “Detour Index” is related with -

(1) Nearest Neighbour Analysis
(2) Potential Model

(3) Transport Network Analysis
(4) Z-Score Transformation

(5) Question not attempted

51. As per the Satellite Altimeter Data of NASA,
what is the approximate change in global mean
sea level since 1993-20237
(1) A rise of 100.5 mm (2) A rise of 162 mm
(B) Afallof 13mm (4 A rise of 58 mm

(5) Question not attempted

52. The term “Biodiversity Hotspot" was first used

by -
(1) Oldham (2) Taylor
(3) Tansley (4) Norman Mayers

(5) Question not attempted
53. In Erwin Raisz’s climatograph, circular lines are
used to show -

(1) Average monthly temperature and average
monthly rainfall

(2) Maximum temperature and maximum
rainfall

(3) Average monthly rainfall only

(4) Average monthly temperature only

(5) Question not attempted

54. Consider the following statements regarding

open series Map of Survey of India -

(A) These are based on WGS-84 datum.

(B) These maps are prepared on International
Projection.

(C) These are available in both hard copy and
digital copy.

Select the correct answer from the code given

below -

Code -

(1) (A) and (C) are correct

(2) (A), (B) and (C) are correct

(3) Only (A) is correct

(4) Only (A) and (B) are correct

(5) Question not attempted

50. “ZeR YEdih wEfuT & —
(1) Frezan gl fawmor §
(2) finrg Hrew A
~:;ﬁ}ﬂﬂaﬁﬂwiamﬁﬁwﬁ
,{llﬂﬁ‘aa‘ﬁﬁnﬁwvrﬁ
) argeIRa weA
51. 9 & SuuE sedriiey @ affhel & SuR,
1993 ¥§ 2023 @& dfae aftga wqw ww #
s givae aar &7
(1) 1005 A & gfa (2) 162 A : afg

@ 13fFH ;N Fga @ ssPhA iy

(5) argaifa wed
52. “Jefafeee a9 we = @1 wduww g
fesam —
(1) siresen g1
(3) Sl BT
lﬁiaﬁﬁﬁﬁm
WS FAGHCSIITG H MeeR Yl
pT SuanT feam # fbar mar & -
mmmmmmmaﬁ

(2) sifwHaw TwE a7 Siftmas aaf
(3) daer afraa wifas auf
(8) @ frwa wifes auErE

(5) argeRa w=
54. yely wderwr e & el dife aafE @
Hed # fefafes suei o faew #fm -
(A) A WGS-84 g uv amenia & |
(B) 4 #HfeE afonisiig weg uv 99w U &)
(C) A 7 & S gey fshes ®id), 2=
o} 9uee & |
:‘ﬁﬂﬁmwﬁﬁﬁﬁlmﬁrwﬁﬁm—

(2) 2l gRT
(4) = w9 gRy

) m)ﬁwr(cmﬁ‘r &

(2) (A), (B) &1 (C) &1 &
(3) Faa (A) |8 &

(4) ®as (A) 7T (B) We) &

(5) s weA

5.9
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59.

- The Polyconic projection was designed by -

» Weakness of the Participation observation is -

(1) Less/Loss of objectivity
(2) Direct Study

(3) More reliable information
(4) Ease in exchange of ideas

(3) Question not attempted

+ The author of the book ‘Main Springs of

Civilisation’ is -
(2) E.C. Semple
{4) 1. Bowman

(1) E. Huntington
(3) M. Jafferson
(5) Question not attempted

- The average thickness of biosphere is about -

(2) 15 kilometer
(4) 10 kilometer

(1) 30 kilometer
(3) 20 kilometer
(5) Question not attempted

(1) Ferdinand Hassler (2) Ferdinand
Flamsteed

(3) Ferdinand Wright  (4) Ferdinand Raymond

(5) Question not attempted

As per Davis, which of the following region is

most normal case for fluvial cycle of erosion?

(1) Humid temperate areas

(2) Humid tropical areas

(3) Semi arid tropical areas

(4) Semi arid temperate areas

(5) Question not attempted

- Hf the significance level of Standard Error [SE] is

55. wewrll Frdemr & THEN /T & —

23

60.

L
43, the confidence level will be appmximtﬂly@

(1) 99.73% (2) 97.00%
(3) 99.00% (4) 98.73%
(5) Question not attempted

(1) agfrsa 1 &

(2) veas araTe

(3) aiferes farvararira e

(@) Rt & smer-ye™ # gl

() srgerie wee :

F R Sife RifdassT g & waeR
& _

(M 5. gfeTea (2) 0. v

(3) A, SIHvET (4) ang. ar=

(5) srgeifva oo

- qENGIR (VeHved) @ e #eg e
8 _

(1) 30 fFamiex (2) 15 fFerier

(3) 20 fareirfiey (4) 10 fererrites

(5) srafe v

diclieIfe e............. gr1 feuEa e T
aqr|

(1) wfETs Twer (2) B wrers
(3) wiEis wge (4) wfets Wi

(5) araiRE uwA

faw & argaR, Frafafad 4 § ®9 &9 980
B Wi (7)) auved 9% & fov waw Wy
AP 87

(1) o diemrefeady e

(2) amd SwrfEadrg &

(3) sy Swisfeadg 63

(4) e damreaiy a9

() argafa wed

afe & aF® FR (Standard Error [SE]) #
faffafraa g +3 & o1 FifFeew dad
ST BT —

(1) 99.73% (2) 97.00%
(3) 99.00% (4) 98.73%
(5) srgea o

5.9
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61. Consider the following statements and select the 81 Fy=ifafaa uef oe faam Hfw aen v wu
correct one - & TG DTy —
(1) The sub-tropical high pressure belt is caused (1) 9u SwiRdy S=a gam &1 89 AU
by nearby trade-wind deserts, & ARG vaT TR D RO G2 |

(2) The sub-polar area is a zone of high mgﬁ: (2) 99 ydia & 9= <419 &1 &7 81 2|

(3) From 10° north to 10° south vertical afifecs ) 10° ITR & 10° ST 0% Feafer ARy
currents are dominant. vad Bl E
(4) The polar high pressure belt is created by (4) garg gea ggEE @ &3 9 & anl iR
earth’s elliptical course around sun, Ul & FUSTHN AR & HRY BN E |
(5) Question not attempted (5) argaite weA
62. “KEEN" in Climograph represents - 62. Femgnrns # B el wwar & —
(1) Hot and dry (2) Hot and humid (1) 97 vd = (2) 3w v and
(3) Cold and humid  (4) Cold and dry (3) Tl vg ang (4) Bver Uq I
(5) Question not attempted (5) srpafia g
63. Which of the following comes under Palacarctic 83 Fy=ifofag & @ tfensfes Smimfers
biogeographical realm? ¥ & dala T 27
(1) Australia (2) Eurasia (1) sitegferan (2) gt
{3) South Asia (4) North America G (3) =féyor vferay (@) o R
(8) Question not attempted :_'f: (8) argeife wes
64. ‘Romanche’ deep is located in - 64. i e e & —
(1) North Pacific Ocean 1 (1) St s AR #
(2) Atlantic Ocean (2) sEanfes wETmR |
(3) South Pacific Ocean (3) wfEll geria #ErTR §
(4) North Indian Ocean (#) oTd = HeraTR 4
(5) Question not attempted (8) aFaRa e
65. Qut of total 100 units short wave radiation 5 TIFHSE & HUN WIE WX W 100 FHE 7Y
received at the top of atmosphere approximately, v fafawor % | @ faer R anpes
how much radiation is directly absorbed E:.‘ & TR Y WY ¥ sraeifa we vy o 82
atmosphere? Ei‘i (1) 34 507 @) 14 5978
(1) 34 unit (2) 14 unit
(3) 9 unit (4) 19 unit bt W aaem
(5) Question not attempted (5) i wet
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66. Which one of the following pairs is not correctly
matched?
(1) Benguela-Cold Ocean Current
(2) Humboldt-Warm Ocean Current
(3) Canari-Cold Ocean Current
(4) Brazilian-Warm Ocean Current
(5) Question not attempted

67. Identify the element which is not a part of the

hydrological cycle -

(1) Condensation (2) Evaporation
(3) Hydration (4) Precipitation
(5) Question not attempted

8. The famous geomorphological equation F = f

(PM) dt was proposed by -

(1) K.J. Gregory (2) R.S. Morgan
(3) S.W. Wooldrige (%) A.L. Bloom
(5) Question not attempted

69. Research conducted to find solution for a

specific problem is -

(1) Action Research  (2) Fundamental

Research

(3) Survey (4) Analytical Research
(5) Question not attempted

70. If the distance between two market centers is 20
kilometers and the market size of both markets is
(same) 15 kilometer, then as per the Gravity
Model, Breaking Point Value will be -
(1) 12 kilometer (2) 10 kilometer
(3) 17.5 kilometer (4) 7.5 kilometer
(5) Question not attempted

66. =1 H W Wi g™ gafera T8l 8¢
(1) Fuen—sig FErarg arT
(2) EMTee—TTH HETHITS €RT

E&-f.'" (3) S HETHTTOY Ty

- (4) FroffRrge—md HETarTY AT

(5) argwfte ues
67. 39 v @ UgEIMY W WAl W @l
Hrr /e Aft & —
(1) ¥+ (2) g
(3) Srerarsitgvor (4) oy
(8 araRa e
68. gftig —anafa fasm Wi F = f (PM) dt
frme gw1 wearfaa frar T 9i?
() &9, T (2) s\l
() gasey, geget (4) UUd. wH
(8) 3reiRa e
ﬁ%ﬁﬁﬁmm%wﬁﬂmﬁmm
2
() frares o (2) smeTeR T
(3) wdeor (4) RAveroeTs 9T
(5) argeiva we

70. 7f <1 AR FE @ da B gd 20 R
& gt QT BT TR STER (G9) 15 ey
¢ o ‘Tew died B, oER R R @
A B —

71. Which of the following rock is formed through I et 7 9 S0 95F 9wy SR

the process of contact metamorphism?
(1) Marble (2) Shale

(3) Slate (4) Granite
(5) Question not attempted

(1) 12 faemieR (2) 10 fFariex
(3) 17.5 fHamiex (4) 7.5 fFariex
(8) srgeiiRe we

- Bt wftear & FAffa e 27
(1) FTHAR (2) ¥r&
(3) wie (4) F=rge
(8) arafta we
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72. Who propounded the Poly-Process Concept of 72 5y e fResm @ HE—F@:‘HT HEHog
Slope Development? (Poly-Process Concept) &1 uferarg= fasar?
(1) A.C. Lawson (2) H. Baulig (1) o). S (2) we diferr
(3) G.K. Gilbert (4) L.C. King (3) =, firead (@) war il fm
5 -
(5) Qﬁsgtlllnn not attempted (5) e W
73. Th air pressure at sea level is - 73. [P O X HFEE argEE Bl § —
(1) 1031.25 mb (2) 1113.52 mb (1) 1031.25 794, (2) 1113, 52 vA.AY
(3) 1013.25 mb (4) 982.41 mb (3) 1013.25 Ta41. (4) 982 41 TH A
(8) Question not attempted (5) argeiiRa we
74. Minamata disease is caused due to the presence 4 fEmamar €l () o A &1 Suffy &
-, T in water, o B 2
(1) Fluoride (2) Nitrate (1) geRTEe (2) TEge
(3) Lead (4) Mercury (3) ¥ (4) urr
(5) Question not attempted (5) GF_},ﬂﬁﬁ 9
75. Who among the following is related with ‘Time 75 /=1 % 9 &9 g syer | wafegg &7
ﬁ;’“gmph-‘" 2 & M) & gedve (2) apree @R
T. Hiigerstrand August Comte
: == 4
(3) David Harvey (4 Peter Haggett B =aE w1 ) drex Fie
(5) Dugsgion not attempted (5) IrgerRa we
76. ong the following had postulated the 76 Fr=faifae # @ v oRRafe® wda
concept of ecological niche? (Ecological Niche) @1 W@eal &1 afqores
fasar an?
(1) E. Haeckel (2) J. Grinnell
G O o (1) € 2oa (2) 3. fire
ot R @ e de @ d e Re
(5) Question not attempted (8) sreRa e
77. As per the Continental Drift Theory of Wegener,  77- 9iiY @ #ewEid waie g & SuR,
which among the following is not a supporting frferfiaa & @ @ v waor fera & us
evidence of the theory? § T8 &7
(1) Carbctnjfcmus ghu:iatiu.n evidences in North ) = i .
America and North Africa
(2) Both coast of Atlantic are identical A O
geologically @ I
@) E "-! v Fit (3) TP
(4) Biswibution of glossopteris flora in India, (@) e aefy o A, SR sk,
South America, Australia sifeforar # faewor
(5) Question not attempted (5) ;"lﬂﬁﬁﬁ RG]
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78. Where is ‘Ninety East Ridge’ situated?

(1) Indian Ocean

(2) South Pacific Ocean
(3) North Pacific Ocean
(4) Atlantic Ocean

(5) Question not attempied

The Latitude-Longitude extension in 62J/NE
will be -

(1) 15°% 15
(3) 30'% 30°

2 1'% 1’
@) 7Yy 7V
2 k4

(5) Question not attempted

. Consider the following statements regarding

‘Behavioural Geography' and select the correct
answer from the code given below -

(A) Man shapes as well as responds to his
environment and that man and environment
are dynamically interrelated.

78.

iﬁh
(B) The nature of Behavioural Geography I)E:_f‘

Multi-diseiplinary.

(C) J.K. Wright and G.F. White emphasised on
Behavioural Approach.

Code -

(1) (A), (B) and (C) are correct

(2) Only (A) and (C) are correct

(3) Only (B) and (C) are correct

(4) Only (A) and (B) are correct

(5) Question not attempted

15e) §xe ded (Il Hew) e Rug 87
(1) fe=g wEErR #

(2) 2@yl wsnia wemrR o
(3) Ted qIE HEER H

(4) sredifes werarR |
(5) srqaRa weA

. 62)/NE # anesfra—deiada fwam g —

(1) 15% 15 @ 1% 1

(3) 30'% 30"

(5) sraiRa we

(4) 71y 71
ok

. argRRgRE el @& gy F FeafafEa sl

w faar #few g 8 Ry oae § ud

TN I PAT —

(A) = qufaeer H) AR 6 & qUl IEHH
waifda @ e &) Fw iR iR
Tfadie w9 UH T ¥ IS & £

(B) IIERYS WA @) Upfa a8 fAwas €|

(C) W, Ve 7T WIUE. BFE o ATERULD
gitemmr w® fers SR R

ai?:_

(1) (A), (B) @17 (C) WET &

(2) Haet (A) T (C) T €

(3) Haa (B) a1 (C) Wel &

(4) Bast (A) T (B) W8I &

(5) arife we

81. Which of the following type of research is 81 fr=fafas # @ 59 wdR @1 MY IPER W
normally related with abstract idea or theory Rraws! s awifel gRr SR v fiy
often used by thinkers and Philosophers? ;‘?ﬁ a aﬁ-# frar a1 Rigia § a8
(1) Universal Research i"" (1) v ST
(2) Conceptual Research 'f (2) TS I
(3) Empirical Research (3) IS IgEH
(4) Experimental Research (4) TS STHET
(5) Question not attempted (5) argaRa weA
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82. Assumptions of Karl Pearson Coefficient of 82-
Correlations is/are -

(A) Normality

(B) Cause and effect relationship

(C) Linear nature e
Code - —'f
(1) Only (C) (2) Only (B)

(3) (B)and (C) (4) (A), (B), (C)

(5) Question not attempted

83. Vertical pipe like passage connecting the caves  83.
and shallow holes are known as -

(1) Kamas (2) Ponores
(3) Dolines (4) Sinking Creek
(5) Question not attempted

84. Match List- with List-IT and select the correct ~ 84.
answer from the code given below -
List-1 List-11
(a) Hooks (1) Coastal erosional landform | b4 &
(b) Cliff (if) Intermontane basins o
(c) Plucking (iii) Coastal transportational/
depositional landform
(d) Bolsons (iv) Hydraulic action
Code -

(1) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
(@) (a)-(id). (b)-(1), (c)-(ii), (d)-(iv)
(3) (a)-(iii), (b)-(i), (¢)-(iv), (d)-(ii)
(8) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)
() Question not attempted
B5. Which of the following is a pelagic inorganic  85.
deposit, largely composed of silicates of

alumina? 2_5;-'
(1) Red clay (2) Globigerina Ooze r
(3) Pteropod Ooze (4) Diatom Ooze

(5) Question not attempted

BT s we—wwr i A A # -
(A) T
(B) FRvi—uftoms wraw

(C) Y& wepfa

@ —

(1) &3¢ (C) (2) et (B)

(3) (B) a3z (C) (4) (A), (B), (C)
(5) argeifa we

TEH den fea B # e ot swhR
gy S A @ HE Aer & —

(1) &= (2) drret
(3) Sreme (4) et FafimT
(5) srpafta wes
-1 @1 - Y g A aur 49 R
TV He § FE I B 999 W —
-1 11
(a) §F (i) TE ARETIHG WIeTpie
(b) 97 (ii) 3R T afET
(c)yBeres (i) adta uRaea / FEuarems
wpcrpRy
(dafm  (iv) BEgifere Tam
EE' —

(1) (a)-(iv). (b)-(iii), (c)-(3), (d)-(ii)

(@) (a)-(iih), (b)-(0), (c)-(ii), (d)-(iv)

(3) (a)-iii), (b)-(i), (e)-(iv), (d)-(ii)

(8) (a)-(i), (b)-(iii), (c)-(iv), (d)-(ii)

(5) arafta wed

fr=fafen 4 4 a9 @ Wife serfe
e & o sfetes vl @ Rfeae @

7 &7

() w1t it (2) THfoREr ve
(3) S¥mfs s (4) 3/ges U
(5) srgeife e
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86. The methods to calculate the Simple Arithmetic

Mean in an individual series is/are -
(A) Direct method

(B) Shortcut method

(C) Step-deviation method

Code -

(1) (A) and (B) (2) (B)and (C)
(3) Only (C) (4) (A), (B), (C)
(5) Question not attempted

- Who among the following advocated the use of

spatial laws as a basis for geographic
explanation?

(1) R. Hartshorne (2) Carl O. Sauer

(3) F.K. Schaefer (4) F. Ratzel

(5) Question not attempted

- Which among the following in not In-situ

Conservation of Biodiversity?

(1) Botanical Garden  (2) Biosphere Reserve
(3) Wildlife Sanctuary (4) National Park

(5) Question not attempted

- Which among the following is not correctly

matched?

(1) Steppes-Eurasia

(2) Pustaz- Hungary

(3) Downs-New Zealand
(4) Pampas-Argentina

(5) Question not attempted

- Which of the following statement is correct

about January isotherm of northern hemisphere?

(1) —10° isotherm passes through Arabian
peninsula.

(2) It deviates to the north over ocean.

(3) It deviates to the south over the ocean.

(4) The land-ocean bending of isotherm is more
pronounced near equator than higher latitude.

(5) Question not attempled

LA

oF

86. zfierera ol ¥ Wl GETON 16 SR e @l

X

a7.

fafeyf & —

(A) weer 9if
(B) @y Aifa

(C) ys—fage= Afa
ﬁ:_

(1) (A) 3f (B)

(3) ®ad (C)

(5) argeiRa wee
o=t 3 9 s dfes e & e @
w9 4 wihe Fad & Suar @) gaea o7

(2) (B)aiR(C)
(4) (A), (B). (C)

(1) s e (2) wrel s wHiaR
(3) U@, BT (4) T, Yeuid
() argeifta weA
88. fy= o @ Gafafdwer &1 @ e
T8l 87
. ) arfas wam (2) StaEved SRl o
¢ (3) gl apawey (&) Tt gEE
(5) arreifa ues
89. fmr % W diar gaferd AE 87
(1) R
(2) qars—gd)
(3) Bra—Yalelvs
(4) JurE—artel
(5) SR W
90. GErd) lelld & Sad @ WHAT Y @ wHed

# frefafas § 9 o9ar d99 wd 87

(1) ~10° TFYTEA YET 3RF WEEY A g o)
i

(2) #EErRT U g8 IO @) N Raaaan B

(3) HErETTY UX U SR @Y I Rawad £

(4) wHey W1 w1 WA-HETANNIY 8
SPETTE 1 ol H e YW W e win
2 '

(5) s we
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a1,

93.

The Nominal variable measures of relationship 91 =¥ # 5H5= (Nominal) &1 W #q & —

are - (A) &rw81
(A) Lambda (B) T84 it wmvwd =%
(B) Goodman and Kruskal's tau M [C] T
(C) Gamma
Code - (1) aaﬂ?ﬂ (2) #3e1 B
(1) A and B (2) Only B
(3) AB.C (#) A and C ) AB.C @) AdRC
(5) Question not attempted (5) argafa we
Which among the following Arab Geographer's ~ 92. fyfafas % 9 5w ara spierden 9 gwrs
book is considered as first climatic atlas of the w1 vy &1 ugan STErET Yo A orer 87
world? () fram—sra-f (2) gwfer
(1) Kitab-al-Hind (2) Mugaddimah (3) Reara- oo —ae—2 (4) Rrara—ge—awse
(3) Kitab-Muraj-al- (4 Kitab-ul- Ashkal
Dhahab

(5) Question not attempted ) rgeRer 5o
Which one of the following is an example of 93. fy=farfaa & 4 Faw v “waEs anf=x
“Inclusive class interval™? ' pa o T TETERT EY
(1) 0-10, 10-20, 20-30, 30-40 E.Ei (1) 0-10, 10-20, 20-30, 30-40
(2) Less than 10, 10-20, 20-30. 30-40 (2) 10 % &%, 10-20, 20-30, 30-40
(3) 2,4.6,8,10 (3)2,4.6, 8 10
(4 1-10. 11-20, 21-30, 3140 (4) 1-10, 11-20, 21-30, 3140
(5) Question not attempted (8) arpeRe wem

+ In the Koppen’s classification of climate, polar 94 310 & Sy wffewr § gdw seamy
climates are designated as - Frofta @t & -
ME (2) B MEA (2B ¥
@) @) H B cC# @HA
(5) Question not attempted (5) srgaiier e

- Which is not a correct match? 95. T Wt fem A &2
(1) Karst Landforms — Looped bar (1) B Pl — s IR
(2) Fluvial Landforms — Natural Levees L = @ e W ~ WP qedn
(3) Glacial Landforms — Nunatak ﬁm femrh s—snpfiat — Fes
(4) Arid Landforms — Ripple marks o () g5 arpfndt — Fex & Feme
(8) Question not attempted (8) sgeifer west
Which among the following is a tropical biome? 96 =1 % 9 F\ewr swsfeady amm 22
(1) The Savanna (2) The Steppes (1) war (2) =i
(3) The Prairies (4) The Pampas (3) U (4) g
(5) Question not attempted (5) arrafta ue
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a7.

101.

Which of the following approach is highly 97. Fr=feifga % @ @l gfesm s

anthropocentric? AR 7
(1) arara wRRufad (2 P/ adm

(1) Habitat Ecology  (2) Niche Ecology b arRfRerfaER

(3) Deep Ecology (4) Shallow Ecology o ) e oiRRufE () wad oiRRufre

(5) Question not atiempted (5) rgaRe wee

Who among the following discussed the reasons 98 fip=y # & fFes v air Tfer & R afe

and timings of dawn and twilight? T U T @Y

(1) Al-Idrisi (2) Al-Masudi (1) -z (2) ars—wel

(3) Al-Biruni (4) Ibn-Battuta (3) a1 (4) geTaT

(5) Question not attempted (5) araRte weA

- “Who gets what, where and how” is the core 99 ‘&9 T, dE1 AR du e 2 CEMEL D

theme of - -

(1) Radical Geography (1) sftard) e w1

(2) Idealistic School of Geography (2) arrgeiarE smifes Aamum &

(3) Welfare Geography =3 ) HTUTER I T

(4) Positivist Geography Ei'ﬁi HEUETATE! IS &I

(5) Question not attempted (8) argela wes :
100. Who among the following calculated the most  100. f= # ¥ fFwrs ged &) Ry & wdta 7o

accurate circumference of the earth? D7

(1) Anaximander (2) Ptolemy (1) Tfadve (2) =T

(3) Eratosthenes (4) Plato (3) e (4) wier

(5) Question not attempted (8) argmiRE ueA

In which of the following spectrum, there willbe 101 fy=forfas & w B weew § aga afds

peak reflectance in a lake having very high FERIbe  wWigar  aen sa # (12

chlorophyll  concentration (above 12 Atz Aer A i) TH uREdE B

::;T'i?mﬂﬂﬂ!:ifmmemr e 7

(2) 0.6 to 0.7 micrometer 5%(2} 063 07 et A

(3) 0.5 1o 0.6 micrometer (305 0.6 gmrAICcy

(4) 0.4 to 0.5 micrometer (4) 0.4 9 0.5 MEAHAICY #

(5) Question not attempted (8) araifta uwA
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102. Consider the following statements resarding
Chorochromatic map and select the correct
answer from the code given below -

{A) Layer tint map is a type of Chorochromatic

map.

(B) Its a quantitative map.

(C) Different shades of only one colour can also
be used in Chorochromatic map.

Code -

(1) Only (A) and (C) are correct

(2) Only (A) is correct

(3) (A), (B) and (C) are correct

(4) Only (A) and (B) are correct

(5) Question not attempied

103. Which among the following aerosols/particulate
matters has highest percentage in a steady-state
toposphere?

(1) Sea-spray

(2) Anthropogenic sulphates
(3) Forest fire

(4) Vegetation

(5) Question not attempted

104. Which of the following facts are true about three-

dimensional diagrams?
. (A) These have all three extension of length,

breadth and height.

(B) Cube, spherical and block pile are examples
of these diagrams,

(C) These are also called volume diagrams.

(D) These diagrams are made only in conditions
of a little difference in the given values.

Code -

(1) (A). (B), (C) and (D)

(2) (A) and (B) only

(3) (A), (B) and (C)

(4) (A). (B) and (D)

(5) Question not attempted

5.®
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102. e (wWimfes) wafE & waw #
FPraferfiaa soet uv far i gun 19 fao
Y He A WE TR B G Doy —
(A) =1 B AT TN
b (Chorochromatic) ATFfTE &1 U6 UbN 2
T (B) UE U v-ner A @)

(C) ¥ wAfaa F ys & 91 & &2 B

@I A A B 81

E_

(1) @aat (A) e (C) uit #

(2) @ae (A) wEl &

(3} (A), (B) @201 (C) ) &

(4) Fast (A) dg1 (B) T8) &

(5) ar=geiier wea
103. FyfarferT % 9 frw gaRve / mifégere few

1 (e e saen smved ¥ wag e

uftrere g 82

E_"t:f.': (1) T8 BER (Sea-spray)
e (2) wreray webe

(3) el &1 smr

(4) arafey

(8) arraifte weA

104. Fyafafian & 9 @ aen Bfm andal & an

4w &

(A) g0H wmarg, dterd a sad 9 [FwRt &
WA Bar #

(B) Bfm amat & ua, M 3 wife wdd
garEr # |

(C) g1 w3 off Fed #)

(D) @1 fBA gy gl 4 agd &9 R BM
H g9/ a8

= .

‘:_":': (1) (A). (B), (C) 3R (D)
"‘-‘f: (2) Faat (A) 31 (B)

(3) (A). (B) stz (C)
(4) (A). (B) a1z (D)
(5) AEa U




105. Consider the following statements regarding the 105-u% a8 v faomgs o vl & d&9g #
features of good research design and select the Fafafteg st v Rer Hifse awn R o
correct answer from the code given below - W@ﬁﬁmmmwmﬁ

(A) Researcher must have clear objectives. 'ﬁ:': (A) siemeft @ ure we Stvm g Ak
(B) Researcher must know his skill and -1.!:' (B) il &Y 3w+l Hyemn i dE ww

limitations. B wifEv |
(C) Researcher must have clarity about the (C) wiremefi @1 spezra & WA ATl e
nature of problem to be studied. wgfa & an § wea @+ Wy
Code - e '
(1) Only (A) and (B) are correct (1) Bac (A) e (B) WE &
(2) Only (A) and (C) are correct (2) Haet (A) @ (C) Wel &
(3) (A), (B) and (C) are correct (3) (A), (B) 7T (C) Wl &
(4) Only (B) and (C) are correct (4) Haat (B) @1 (C) WE #
(5) Question not attempted (8) agaRe we
106. Which among the following is not a Greek 106. = & & el spiverden =8 & —
Geographer? (1) g¥ErerE (2) vfaesvey
M G o ——
(5) Question not attempted [ ) & (8 vt wes _
107.1f a research hypothesis is Hi: pi > Mo, nquﬂQluﬁ & Y UREEA Hi: i > e &, @ 99
hypothesis would be - e 8t —
(1) Ho: i = pa (2) Ho: po =y () Ho: i = o (2) Ho: p2 =
(3) Hy:po=p (®) Ho:py=Hi: g2 GV H: pa=p (4) Ho: s =Hy: w2
(5) Question not attempted (8) srgaiiRa we
108. Which of the following is a correct conversion of  108. fy=fafigg # & Fr=ram 45° 527 30" Feer &1
latitude 45° 52° 30" in decimal degrees? zYHed & & Wl wuiawor 87
(1) 45.875° (2) 45.375° (1) 45.875° (2) 45.375°
(3) 45.683° (4) 45.432° (3) 45.683° (4) 45.432°
(5) Question not attempted o (8) arefde e
108. 7 bit' digitisation implies - Eiﬁ 7 dre—fefreaiawor o1 a2 -
(1) 256" discrete level (2) 128" discrete level (1) 256 fafaas W= (2) 128 fafdes &=
(3) 64™ discrete level (4) 512" discrete level (3) 64 fafgas v (4) 512 fafaea =
(5) Question not attempted (5) SrgaRa we
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110. As per R.L. Ackoff, which of the following is 110. IR UE. (&% & IguR Frfafaa 3§ I e

NOT a component of research problem? T FHET BT HED ALl 87
(1) There must be some environment to which (1) e T amaarer €5 ey fort e
the difficulty pertains. AT |
(2) There must be alternative means for i (2) TRE Wit B BB dfoqd A Aavy Bl
obtaining objectives. i =1f2y |
(3) There must not be any doubt in the mind of 3) faweat @1 wUA v gY wmEeRi & 59 A
researcher while selecting alternatives. BIg Hae AL B =WRY
(4) There must be some objectives. (4) &5 It¥ Iavy g ARy |
(5) Question not attempted (5) s we
111. Who among the following said, “We must ask 111 5= § & w1 o8 5ol & sl & an o
the earth itself for its laws™ e gedl § & que wiRy”
(1) Amold Guyot  (2) Carl Ritter (1) arifes e (2) et ReR
(3) Elisée Reclus (4) A.V. Humboldt (3) Tt Yo @) . wEiee
(8) Question not attempted (5) e we
112. World's largest offshore manganese nodule 112 fwa &1 waw a2 swadl Hri Asge a3 |
region ‘Clarion-Clipperton Zone' is located - FeiRRa-feres &= saftuy & -

(1) =ferf wenag e | 9% a9 o
¢ sz 1(2) ZfAOR areTife R # ATofe—srtEr
E_‘. :

(1) in South Pacific of Peru Coast

(2) in South Atlantic from Brazil to Argentina &

19) <Rl sewifed wEmER § dEea aw

(3) in South Atlantic from Cameroon to Namibia

(4) in the Pacific from the west coast of Mexico AT & 4"
o Hawai (4) warier wETARTE # uf¥ed Afdwe 9 | sad
ﬁﬁ !
(5) Question not attempted () B e |
113. Which one of the following (Inland Sea/Lakes - 113.fpafaifaas & 2@ @Far  (arafs !
|
Salinity) is not correctly matched? WP/ FAei—ergoran). gafer 78l 87 |
(1) Dead Sea-238% SUERR L
(2) Bay of Karabugas-170%. (2) a”*'ﬂ:”“ &1 WIE—170%0 .
(3) Great Salt lake-220%c @) e Hiee AF—220%o |
(4) Lake Van-230% (4) ar Sfrer—-230%c 1
(5) Question not attempted (5) saRe we ;
114. Which of the following is also called as ‘Closed 11_4- Fferfaa 4 9 f5d @ w@ar @ @80 27 ll
R |
Savanna’? E::'!:_fll q8cis /g4 yavi(2) st war |
(1) Woodland Savanna (2) Shrub Savanna S AT I
(3) Grass Savanna (4) Tree Savanna (3) 5T waE (4) ger Har '
(5) Question not attempted (5) sraRa e
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115. What is the local name of Savanna region of
Brazil?
(1) Alvarado
(3) Paranako
(5) Question not attempted

(2) Guanaco
(4) Cerrado

116. Who among the following Geographer is a
strong supporter of concept of Chorological

Science?
(1) R.L. Smith (2) A, Hettner
(3) 1. Wolpert (4) Peter Gould

(5) Question not attempted

7. Arrange the following layers of Heterosphere in
ascending order in terms of their respective
heights -
(A) Atomic Hydrogen
(B) Molecular Nitrogen
(C) Helium
(D) Atomic Oxygen
Code -
(1) AD.C.B (2) B.D.A.C
(3) ACB.D (4) B.D.C.A
(5) Question not attempted

118. Which of the following topography is formed in
the old stage of Karst cycle of erosion?
(1) Polje (2) Karst Window
(3) Hums
(5) Question not attempted

(4) Terra-Rossa

118, Tghulation of data simply means -

(1) Systematic presentation of data s
(2) Selecting data
(3) Analysis of data
(4} Collection of data

(5) Question not attempted

.
¥
.

EYsal

115.

116.

117.

ATalicl @ FA] &3 BT WY A F 8?
(1) Freamrer (2) TR

(3) TR (4) Trerey

(8) argafea we

frafafaa 4 @ @19 | pliaa a3 G

f@si (Chorological Science) @1 W&edwl &
gae wHele o7

(1) IIR.va. fny (2) ¢ e

(3) W, areud (4) drex e
(8) arqeriyer wed

fagsmrea &) F=faftaa uwi & S99 $a18
F qo0 /Ted B H wyafg wiferd —
(A) FTa® B

(B) anfeas -ggia

(C) Erforgw

(D) anfeas faTor

E@‘ s

(1) ADCB (2) BDAC

(3) AC.B,D (4) B,D,C,A

(8) areiRRa u

8. e aruve i @ garaven | efafe 4

119.

H @ wesfa B 8 27

(1) gisat (2) wrd Raga
(3) &= (4) S
(8) argeiRa e

AHST @ GROIA B wEEg ot B —
(1) sl @1 geraierd wegoi®eor
(2) siipEl @ B

(3) srimst &1 favergor Hwn

(4) STl &1 HUEY HLl

(8) argwife weA

5@
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120. The vegetation community developed at the end

120. gqwfey og@wm1 & o W fasfm awfa

of vegetation succession is called - WHA HECI § —
(A) Sere (A) W
(B) Climax vegetation (B) T¥H e
(C) Climatic climax &'-l'i (C}fﬁfmﬂ XA
Code -
(1) Only (B) (2) (A), (B), (C) (1) a%aa (B) (2) (A), (B), (C)
(3) Only (A) (4) (B) and (C) (3) Faet (A) (4) (B) 3l (C)
(5) Question not attempted (5) sl v

121. The Charlier's check for accuracy is used in 121 ¥HI=R @ F To1 # AR & Ygar
calculation of arithmetic mean in - Wt @1 WA e § -
(A) Shortcut method (A) &g dfty H
(B) Step Deviation method (B) 9% farerer Afty 3
(C) Direct method (C) wewer fafey 4
Code - T —
(1) Only (C) (2) (A)and (B) (1) Fa (C) 2 (A)&R(B)
(3) (A), (B), (C) (4) (B) and (C) (3) (A), (B), (C) (4) (B) 3= (C)
(5) Question not attempted (8) argaiRe wea

122. Who among the following Geographer term C 2

Quantitative Revolution as ‘Civil War' and
noted that guantification had many points in

common with a political ideology; it was more

or less a religion to its followers?

(1) H.C. Darby (2) 1. Burton
(3) L.D. Stamp (4) B.J.L. Berry
(5) Question not attempted
123. The main capabilities of Raster Model are -
{A) Transformation of data
(B) Overlapping
(C) Layer upe:rar_inn

(D) Generation of new layers

Code - e

T

(1) (A), (B) and (C)

(2) (B) and (C)

(3) (A), (B), (C) and (D)
(4) (B), (C) and (D)

(5) Question not attempted

Frefefas & @ o sEeEen 3 A wifa
B e g& ®El oA gar & uRkmmiiewer qen
e Ramemg 4 @ fig 9om € Os
FHAY 0 Il @ e e Shar #2
(1) Ta . = (2) arré. 7d+
(3) v & ey (4) oo 49
(5) el wed
123. 3reey WoTTel @ R e § —
(A) SiTEpe! B IR
(B) iftreara=
(C) uval &1 Fere
(D) 78 gl &1 Pafo
@_
(1) (A), (B) 3R (C)
(2) (B)ai=(C)
(3) (A), (B), (C) 3R (D)
(4) (B), (C) 3% (D)
(5) argafa we

5.9
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124. When the wavelength of the incoming radiation
is similar in size (o the atmospheric particles,
which scattering occurs?

(1} Non-selective
(3) Rayleigh

(2) Spectral
(4) Mic

(3) Question not attempied r'si
125. Who quoted “Man is changing himself as welFa®

the world as he goes along™?

(1) Carl O. Sauer (2) A.P. Brigham

(3) Isaiah Bowman (4) Mark Jatferson

(5) Question not atempted

126- e topographical sheet map numbered as 45 1'—1

has the following scale -
(1) 1" =2 mile

@ r_ -
= | mile

(2) 1" =4 mile
(4) |7 = | mile

(8) Question not attempied

127. Jsogonic Maps represent -

1
(1) The location of Planets, Stars and Suluililoi' :1.3
1.

(2) The Magnetic Declination

(3) The Fracture Lines and Axis of Folds
(4) The Seismic Waves

(5) Question not attempted

128. The “Agenda-21" was adopted in which of the
following Conventions?
(1) Stockholm Convention
(2) Rotterdam Convention
(3) Rio-Earth Summit
(4} Ramsar Convention
(5) Question not attempted

129. The *Cascade Range’ of Washington and Orego
(USA) is an example of - }:
(1) Volcanic Mountains (2) Block Mountains * ™
(3) Residual Mountains (4) Folded Mountins
(5) Question not attempted

5.9 & Pugf:‘ 27

124. g fafdvor el &1 9 argETsAr O ®

R & GG BT 8, DI gDHivia gan 87
(2) Waga
(4) 7 /g

(1) AR
(3) Yel
(5) argerfe wee
125. e g fbar @ W ded—ved @ @
WA g B8 a5 6T &7
(1) T1ed 3. s (2) udr. fem
(3) zrmaE AT (4) I STHTEA
(8) argaite we ?
128 worarpfin wERE TS daw 451 @ A
anfy —
(1) 1" =2 =
(3 L - =1 1a
{E}aﬁﬂﬁﬁm
27. ggwrmie At wula & —
(1) wel, ari sk Iuuel &1 e
(2) gaepra 3[wra
(3) e e 3 Rieaet 1 g9
(4) s @
(5) argaifa e
128. “goer-21" @t Freefafaa & @ fow wwem
A arfyer fea war?
(1) wiHam THes
(2) ¥fevsq wwe
(3) Reir—3f¥rae wdter
(4) IR TR
(8) argafta uw=
129. 4if¥mes @ i (UEY) @ R®s
HEA! TSR & —
() Sarergel vddl & (2) @it gdal &
(3) s@afre et & (4) afera uddi @
(8) srqeiiver W+

(2) |”=4‘ﬁ7ﬂ
(4) 17 = | A1
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130. Which of the following range of mountains is not
the result of Alpine orogeny?
(1) Zagros (2) Kunlun
(3) Andes (4) Khingan
(5) Question not attempted

131. Consider the following types of map and -
[ ™

the correct sequence (from the large scale
small scale) on the basis of their scale from the
code given below - '
(A) Topographical Sheet map
(B) Atlas Map
(C) Wall Map
(D) Cadastral Map
Code -
(1) (B), (C), (A) and (D)
(2) (D), (C), (A) and (B)
(3) (D), (A), (B) and (C)
(4) (D), (A), (C) and (B)
(5) Question not attempted
132. Radiolarian Ooze are -
(1) Littoral deposits
(3) Terngenous
deposits
(5) Question not attempted
133. Which ene of the following is not a minor relief

(2) Neritic deposits
(4) Pelagic dcpnsitﬁi o

T

feature in the oceans?

(1) Seamount (2) Atoll
(3) Guyot (4) Oceanic deep
(5) Question not attempted

134. Which among the following matrix is vsed for
the assessment of environmental impacts?

(1) Ecotone Matrix (2) Leopold Matrix
(3) Sere (4) Milankovitch
Matrix

(5) Question not attempted
135. Most of the surface ocean current’s speed is -

(1) 10-15 km/hour (2) less than or eq
5 knots i"__"'_
e Feal

(3) upto Skm/hour (4) upto 2 knots

(5) Question not attempted

130. fry uda Aftl § 6 seurEE qddieel @i
aftom e & -

(1) srarE (2) T
(3) qodi (4) fEr
(8) arqeifer wea
131. f=forian woR & #@fEl o far #ifm

g Hr4 fau W%ﬁfﬁ mzﬁ FER T
w9 (g8 oY ) @ a9uH
g —

(A) Wi iod aFfaa uaws

(B) Teord AFtEH

(C) drardt wHfas

(D) T wrefas

'@ ="

(1) (B), (C), (A) @1 (D)

(2) (D), (C), (A) 721 (B)

(3) (D), (A), (B) @21 (C)

(4) (D), (A). (C) T=11 (B)

(5) arafe we=

132. YfeaaiRaa &w & —
(1) gereen Fem (2) we weitg e
(3) wreiiy gy (4) apmry oy
(8) sl we

133. fpy o 9 @991 WP H U oY Sead
i el 87
(1) ¥fmreve (Wgvda) (2) geia
(3) TarE (4) FETETE
(5) Iyt we

4. F # § s e walavim sl
HeUiE & WA @ w87
() goier Aftea (2) Rommes Afgaw
(3) T (4) fiermitaa Afeaa
(8) IrwifYa we

1H-gﬁm@m:mﬁﬁmﬁumﬁwﬁrm
(M ufe wer 10-15 F(S5 d5ic & 9 =
i d% CRICES
(3) wie we1 5 &4 gwd) 24 6%

(5) araiRe we

is-®
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136. Which of following can be categorized under
Hypsometric Map?
(A) Contour Map
(B) Spot Height Map
(C) Hachure Map
(D) Geological Map
Select the correct answer from the code given
below - T
Code - :}
(1) (A), (B), (C) and (D) are correct
(2) (A), (B) and (C) are correct
(3) (B). (C) and (D) are correct
(4) Only (A) and (D) are correct
(5) Question not attempted
137. Mediterranean Biome is a second order biome
af -
(1) Temperate biome
(2) Tundra biome
(3) Semi-arid desert biome
(4) Tropical biome
(5) Question not attempted
138. “Rain shadow effect” is associated with which

type of precipitation?
(1) Cyclonic (2) Convectional
(3) Frontal (4) Orographic 1

(5) Question not attempted

138. Who among the following proposed that
submarine canyons were formed due to density
current caused by difference in density and
temperature of water?

(1) W.M. Davis and Daly
(2) A.V. Salis and Holiman
(3) J.W. Gregory

(4) J.D. Dana

(5) Question not attempted

140. Who coined the term ‘topohila’ to describe the
effective bond that develops between ‘People

1.

136. fraforfiae % & fow Semaedl a=fea &
sierta aiftea farar o woar 7
(A) HHTeavETa wrEfa=
(B) ®ifs Sarg wefas
(C) &gv wfas
(D) —dsnfe wEferE
o e T S § 9 IR B 95 e —
@'._.
(1) (A), (B), (C) w1 (D) W&l &
(2) (A), (B) 7T (C) W1 &
(3) (B), (C) e (D) &él &
(4) ®ae (A) 52 (D) &d &
(5) argeifer wes
137. speraridi AT O W @7 41 B —
(1) femsfeata arm &1
(2) gogt amam &1
(3) srd—uss HovT TEW #
(4) Swramfeada aram &
(5) argafa we=
138. “gfie wrar wira® avr & 5 w0 9 wafg 27

(1) =pardy (2) HasTg
(3) aremft (4) wad
(5) argmifta we

139. fFfoifea o & fws wwanfaw fear @ ol
e SN TITHE W SN & SRl S g9
arral & ST ATwaE] B @1 R gan?
(1) =g un. SRy qen sreft
(2 v #ferm qun erelds
(3) v sey, A
(4) T2 B
(5) arjeia wes

140. Fri ofiw wie & 419 fAsfie 89 ae wdt
59 @1 9UH Fvd @ for SifEear v fFud

and place’? g7
(1) Yi-Fu-Tuan (2) Buttimer i- (1) H—m—qair (2) afewy
3 4 .
(3) Relph (4) 1. Wolpert Ty O (@) 5. e
(5) Question not attempted (5) seRa g
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141, For calculation of average speed per hour, which
measure of central tendency will be most
suitable?

(2) Median

(4) Harmonic mean

(1) Geometric mean
(3) Arithmetic mean
() Question not attempted ﬁ'_h
142. The disadvantages of the email que:atiﬂnrlait{:":

are -

(A) Requires simple questions

{B) Low response rile

(C) Good opportunity for probe to respondents

(D) Accessibility

Code -
(1) Aand B (2) A,Band D
(B, Cand D (4) A.B.C.D

(5) Question not attempted

143. Size of sample is not affected by -

(1) Nature of universe  (2) Sampling technique

(3) Available resources (4) Expectation

(5) Question not attempted

s
SQL stands for - e
(1) Standardized Query Language

144.

(2) Structural Query Language

(3) Systematic Query Language
(4) System Question Language

{8) Question not attempted

145. Which among the following diagram will be

most suitable, if the gap between lowest and
highest value of data is too large?

(1) Spherical Diagram

(2) Two Dimensional Diagram ;'31
(3) Divided Rectangular Diagram

(4) Rainfall Dispersion Diagram

(5) Question not attempted

141.

143.

145.

ufey wer sire i #1 TvE $ B S g

1 BT AT WY SUYE 2P

(1) o e (2) wferapn

(3) wrforeir Ay (4) EXTTH AR
(5) 3pgeiier W

- 8o WETael! & qHAr E —

(A) §Y WTHT &) G

(B) &9 wfafda ov

(C) ITRGETEST & U e BT e #iwt
(D) sifRFrEren

a‘g‘?‘_

(M A3RB (2) A, B3 D
(3) B,C3RD (4) A,B,C,D
(8) arpEiiRe we

uftrgst @1 snw wfaa FE g & -
() ¥ @1 wpfa & (2) ufdes dfa |
(3) Suctar wrEEl ¥ (4) wearem W

(5) argafa we

-SQL &1 Q¥ AR 8 —

(1) Standardized Query Language

(2) Structural Query Language

(3) Systematic Query Language

(4) System Question Language

(8) araifRe we=

uf¥ aiffesl & F=aH aur WEaE A @ A
@1 Fov 984 a1 & o Fefafea § 9 @
ARG HIY UG BT

(1) Mefa s

(2) f&fam amva

(3) o SEaER AINE

(4) g qfémor am

(5) arpaifta uvA
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148. Coefficient of standard deviation is calculated by~ 148. ga10 Rrmre=y Tuiiss sna @ &1 Frefoife o

which of the following formula? W B G 87
Mz @ 2x 100 (1 2 @£ 100
32 @ = x 100 _ @2 @ £ x 100
(5) Question not attempted E (5) srgeiia weA
147. On summer solstice, the average length of day at  147. ffywy wwifa == 60° S s W@ 29 @
60° north latitude will be - sitere ard evft —
(1) 5 hrs 33 minutes  (2) 16 hrs 27 minutes () 552 33 e (2) 16 w2 27 firre
(3) 15 hrs 27 minutes  (4) 18 hrs 27 minutes @ 15 27fe (@) 18 |e 27 e
(5) Question not attempted (8) srgerfier wer
148. Which among the following continental self has ~ 148. Friferfag # & frg =erEidia oo o <rerd
maximum width and largest in size? waifa® & @on 7% IHR | WAy a7 87
(1) Siberian Self (1) AraRa A
(2) Western South American Self (2) uf¥erft giEr SR diew
(3) Eastern North American Self (3) gt Ier SR e
(4) West Australian Self (4) af¥est sisfoms 9%
(5) Question not attempted (5) argeiiRe weA
148. Identify the correct Index number of ‘Half lné. L Frefafia # @ smn g9 wioeite = @
Topographical Sheet’ of the following - el A& W UEhaig —
(1) 63 ; (2) 63k/NW (1) 63 (2) 63K/NW
(3) 63k (4) 63k/1 (3) 63k (4) 63k/1
(5) Question not attempted (5) F[eie wos
150. Which among the following is/are the basic 150. ufRfteifad o= & fr=fafag & @ @9
components of Ecosystem? HEE Hed 8 /€7
(A) Energy (A) Tt
' (B) Biotic components (B) Wi wew
(C) Abiotic components (©) fw o
Code - =
() (B)and (C) (2) (A) and (B) (1) (B) 3 (C) (2) (A) 3R (B)
(3) Only (A) (4) (A), (B) and (C) (3) waw (A) (4) (A), (B) 3ilR (C)
(8) Question not attempted L 18) gaia v

“
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